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POLITICAL SCIENCE

( General )

Paper 6.1

( Public Administration )
Full Marks : 80
Time : 3 hours

The figures in the margin indicate full marks
for the questions

Answer either in English or in Assamese

1. Answer/Choose the correct one of the
following : 1x10=10

fmfRerre ws tes /M e

(a) Who is regarded as the father of Public
Administration?
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(2)

(b) The book Introduction to the Study of

(c)

()

14A—45*/144

Public Administration is written by
() L.D. White

(i) Willoughby

(iii) Simon

Introduction to the Study of Public
Administration W99 J€ (FIP (202
() <= . @riRs

(i) TR

(iii) BIZw

Who coined the word POSDCoRB™?
‘POSDCoRB’ *h! (I % sffRe 2

Who of the following says that Public
Administration includes the operations
of only the executive branch of
government?

(i) L. D. White

(i) L. D. White and Luther Gullick
(iti)y Luther Gullick

(iv) W. F. Willoughby

@ (e BRIRCT (@Rl (T (EIF-2HPES T1d
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(iii) AR S

(iv) ©FS. a%. T¥&'R

( Continued )

(e)

(9)

(h
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(3)

Elton Mayo is associated with

() Human Relations Movement
(ii) Scientific Management Theory
(iii) Bureaucratic Theory

G (AT T

(i) AR SoE ST TS
(ii) CI|F AHE Tgq FAS
(iii) SCAETSGE TGI #51S

“The Government Corporations are called

> »

Island of Autonomy’.” This statement is
True/False.

“oeeRl TR FomeR Ae’ I
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Who edited the book, Towards a New
Public Administratior?

Towards a New Public Administration
AT 2ARA (I =] A% 2

“Responsibility is one of the factors of
centralization and decentralization.” This
statement is True/False. ‘
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2. Answer the following :
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t4)

(i) “Coordination is the all important duty of
inter-relating the various parts of the
work.” This definition of coordination is
given by

(i Hudson

(i) Parker

(iii) Dimock

qpy TR R WoE WS I FACR
vare AR | T @ R fie

(ii)) o

() ‘“Halden Committee was set up in the
year 1920.” This statement is True/
False.
‘oo ARG 1920 BIS FAH A0 Cafest 17’
&3 PUYRE WF /TG |
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(a) Mention two factors which contribute to
the growth of Public Administration.
o R qaef Q@R o1 T
TEe 90

(b)) Name the views regarding the nature of
Public Administration.

-2 2T THE X [RSRCILON AN
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2x5=10

( Continued )

(c)

(d)

(e)

(5)

What is New Public Administration?
TG (-2 A 2

Write two features of Hierarchy.
Wit o1 (afiEs for |

Mention two hindrances to Delegation.

SR Ko1 141 SCE 91|

. Write short notes on any four from the

following : 5x4=20
e 71 Gret forer (R cem RERNE

(@)

(b)

(c)

(d)

(e)

Scope of Public Administration
(o - 2T ST

Importance of Public Administration in
India

TRATS (- B

Aspects of Scientific Management
tawifoe remR e i

Formal Organization

B Ao

Line Agency

FHAR] F<EI

Auxiliary Agency

(3 TR oMM
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(6)
4. Answer any four questions from the
following : 10%4=40
e i e BiRn! 2T e foran
(a) Make a distinction between Public
Administration and Private
Administration.
5P T A (HAPIA AAPTR AES AL
AT 241 |

(b) Examine the bureaucratic theory of
Max Weber.
(T ST SCACTSIGE SGO! ! 3471

{c) Discuss the objectives and functions of
organization.
T8I TR W PAMIA A B |

(d) Define Corruption. What are the code
of conduct for Ethics?

ey Age w1 eafewer e wmvad Rz
& 0

(e) What is meant by Chief Executive? What
are the functions of the Chief Executive?
0 IR I @CE? q9 IRCIRRR
IRt & &2

(/)  What is Public Corporation? What are its
characteristics?

saral e 3 2 Tane tafiRifee 5 0
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(g)

(h)

14A—45* /144
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Discuss the methods by which the
Parliament can control Public
Undertakings.

R Someee. e [ R oorafer g
4 A1, SCEw 4 |

What do you understand by the Principle
of Span of Control? Explain the factors
responsible for the difference of span of
control.

fras fEfe A FPw & @2 =we
AfSaoal SAMWER I F4T |

* K ok

3 (Sem-5) PSC 1



